Physiology FACEM Part 1 April 2005

1. Role of Peripheral nervous system

· permissive

· regulatory

· modulatory

2. Barometric pressure half of 760mmhg, what is Pio2

-  70 

3. Buffer in interstitial fluid

- HCO3

4. CO2 carried in which way most

- HCO3 plasma

- HCO3 RBC

- Carbamino compounds

5. Range of pH which is compatible with life

- 0.00002 meq/L – 0.0001 meq/L

6. At pH 7.1, ratio of HCO3/ H2Co3

- 10

7. Relationship between glucose and Na transport in tubular fluid

- Increased glucose if more Na in tubular fluid

- decreased glucose uptake if more Na in tubular fluid

- Increased glucose uptake if less Na in tubular fluid

8. Osmolality at medullary papillae

- I think it is 1200

9. Which is incorrect

- Thin descending limb impermeable to water

- thick ascending limb impermeable to water

- Thick ascending limb impermeable to urea

- thin descending limb  - most water is reabsorbed as is most permeable to water
I think the question came from Table 38-8 from Page 718, Ganong 21st edition

10. Renal threshold for glucose

- 180 mg/dl for venous 200 arterial
11. Which is not present in normal urine

- protein

12. Characteristic of all capillaries

- all have continuous basement membrane

- all have discontinuous BM

- all have continuous endothelium (no fenestrated / sinusoids)
- measure 10 – 20 um

- all are fenestrated

I don’t know what was the answer to this question – I think it came from table 30-1 Page 580

13. A question on Autoregulation and regional oxygen consumption of Kidney

- cortex more ischemic prone

- medulla more ischemic prone

- Refer to Page 708. 

14. Pressure in feet in upright position

- 85-90 mmhg (gain 0.77 every cm)
15. Structure of proximal convulated tubules. Pick wrong

- intercalated and P cells – they are in collecting ducts

16. A question on Air embolism – also in path. All branches from decomp sickness from Page 699 and 597

17. Factors causing increased pulmonary resistance

- high and low lung air volumes

18. A question on acclimatization

19. What decreased affinity of O2 – Haemoglobin

- high temp

20. A question on carotid body and aortic body from Page 676 – 677

21. medullary control of resp

- on pre botzinger  neurons

- on NKI and mu cells on Pre botzinger complex

- Pneumotaxic centre

I found this question strange and did not know how to answer. I think came from Page 675

22. Absent resp when transected what

- upper pons

-caudal medulla

- pneumotaxic centre

23. A question on Table 34-6. Pick incorrect

- activate bradykinin

- Inactivate serotonin

- activate serotonin

- synthesise histamine

- convert Ang 1 to Ang 2

24. Most of blood in which vessel

- systemic veins

25. A question on flow and diffusion limited. Pick incorrect

- Co – diffusion

- No – flow

- O2 – flow

26. A question on Bohrs equation. Ratio of Vd / Vt 

- 0.2 – 0.35

- other branches about dead space and physiological space – all incorrect responses though

27. Question with branches on resp muscles + Aveolar type 11 cell

28. Organ with most blood per gram

- kidney 1250. brain 250 liver 1500 
29. With exercise

- SV decreases less than 2 fold o extraction x 1000. co 700.
30. Reactive hyperreamia due to

- capillary dilatation

- arterial dilatation

- stasis

- vasoconstriction

I think it came out from Page 629

31. A question on RQ. Pick incorrect

- fat 0.9

- Carbohydrate – 0.92

- brain – 0.95-0.99

- RQ for fat less than Carbohydrate

32. A question on Table 32-2 Page 616. Pick incorrect

one branch, also on absorption = formation at 112 

33. Question on CSF. Pick correct

- 550ml / min

- 150 ml/day

- different from brain ECF

- most formed in ventricular walls

- similar composition as ECF
34. Valsalva Manouvre

- brady when glottis is opened.

Very common question in exam.

- A must memo question. 

35. A question on reynolds

Anaemia causes decreased viscosity and decreased turbulence - incorrect 

Few other branches from Page 585

36. A question from Table 29-4

37. Ficks law of diffusion

- confusing as they asked few options from Ficks Principle

38. Conduction slowest in which tissue. Direct from Table 28-1

Answer was AV node. 0.05 ms / vs 4.0 erpkinje
39. Question on Figure 27-23 . Page 542

- Answer Fibrinogen

40. Question also on Table 27-7 + Rhesus. Patient doesn’t have Anti A and negative Rh agglutinins. So he can have children with which group

- A, AB, rh negative

- A, AB, O

- A, AB, rhesus positive

- Rhesus Positive

- O

41. IgG. Table 27-4

- can fix complement

42. Function of Gall bladder

- concentration of bile

43. There was also a question on pH of various body fluids

- gall bladder 7.4 – 7.6 I selected

44. factors which increase renin secretion. Table 24-2

- rising from recumbent position was the correct response

45. Which is the most potent glucocorticoids. Table 20-2. I was lost in this question for 20 mins (
- cortisone

- cortisol

- deoxycortisone

- Aldosterone

- corticosteone

46. Factors which increase GH secretion. Page 408, Table 22-4

- glucagon

- glucose

- REM sleep

- cortisol

- FFA

47. Body heat lost max by: 

Question from Table 14-5. Page 256. I am told this question has been coming up quite regularly from couple of people I spoke with

- answer is radiation and conduction.

48. question on ear. cant rem actual question

branches were

· otoliths

· kinocilium

· stereocilia

· hair cells

49. Visual acquity max

- fovea centralis

50. what determines the presynaptic inhibition. I found it hard. I think it came out from Page 93 and Figure 4-11.

- action potential amplitude

- Neurotransmitter release

- Post synaptic action potential

51. What increases cAMP. Pick incorrect

- Insulin tyrosine kinase receptor
52. Stretching GI tract smooth muscle. What happens

- depolarization

53. How do you measure cardiac work from Starlings Curve ? Page 81.

- I think – area under the curve ???

54. Heterometric cardiac contraction

55. Nerve conduction highest

- large diameters

56. What is the role of centrioles ??? I still don’t know. Align spindle 
57. Role of Smooth Endoplastic reticulum

- ribosomes

- protein synthesis

- Lipid synthesis

- act as electron transport chain

58. Distribution of 5% dex into which compartment

- ECF

- ICF

- Transcellular

- Interstitial fluid
- Blood

59. What is osmotic pressure. Pick incorrect

- prevent solute migration

- different for different solutes

60. One question on thyroid which I cant rem.

I hope these questions help. Physiology was the easiest paper of all and Anat the hardest !

